SX750 Gold

CONN [PIN COLOR | OUTPUT | WIRE_AWG | LENGTH (mm) CONN_[PIN| GOLOR | OUTPUT [WIRE AWG [LENGTH (mm
1 [BLACK | +3.3V 1 [ BLACK | +12v
2 [BLACK | _+3.3V 2 | BLACK | _GND
3 [BLACK GND 15p [  BLACK |_+5V 18 300 + 25
4 [BLACK |45V 4 | BLAGK | GND
5 [BLACK GND 5 | BLACK | +3.3V
6 [BLACK |45V 1 [ BLACK | +12v
7 [BLACK GND 2 | BLACK | _GND
& [BLACK | PWR—OK 15p-1 [ 3 | BLACK | +5V 18 200 + 12
9 [BLACK | +5VsB & BLAGK | GO
F12VMBPH 5 +3.3V
O] BLAGK | fiavs 1| BLACK | +12v
71| BLACK | 12VMBPH 2 | BLACK | GND
TITBIACK | £3.3V 15p2 [3 ] BLACK [ 45V 18 100 + 12
¥3.3V 15p.3 [+ [ BLACK |_GND
2044)F03 | BLACK | T30 6 300 & 25 5 | BLACK | +3.3V
o s
5| BLACK CND .
6] BLACK | PS—ON 3] BLACK GND ' 300 £ 25
71 BLACK GND 4] BLACK | _+5V
7 [ BLACK
8 BLAGK e 2| BLACK | _GND
1olsLack | S0 ST BLAGK oD 18 200 + 12
20T ne 5V Z BLACK | 75V
" T3V T BLACK
BLACK | =g 2] BLACK [ CGND 18 100 + 12
22| BLACK 5V 3 Stigé Eg\[/)
23] BLACK +5V 4 =
24]BLAC oND e
71 BLAC GND S e 20 100 £ 12
2 [ BLAC GND e
ST BLAC GND
4| BLAC GND
P Sk [saviva| 16 400 + 25
6 | BLACK | +12Vi/V2
7 [ BLACK [ +12Vi/v2
B [ BLACK | +12Vi/v2
1| BLAG G
2 [ BLAC G
3| BLAG G
4 BLAC G
P2 ST BrACK [wTavi/va 16 400 + 25
6 | BLACK [+12VI/V2
7 [ BLACK [+12V1/V2
8 | BLACK [+12Vi/V2
1] BLAG GND
2| BLAC GND
3| BLAG GND
4 BLAC GND
P28-1 1 Brack [TioviNe] 1 150 + 12
6 | BLACK [+12Vi/V2
7 [ BLACK [+12V1/V2
8 | BLACK [+12Vi/V2
1] BLACK | <15V
7| BLACK | _+12V
ST BLACK | +12v
pop | £ ] BLACK | _GND 6 100 < 25
5| BLACK | GND
5] BLACK | GND
7 BLACK | _onD
8 | BLACK | _oND
1] BLACK | <12V
7| BLACK | _+12V
ST BLACK | +12v
4| BLACK | _GND
P20=1 51 BlACK | oD 18 150 + 12
51 BLACK | GND
7 BLACK | oD
B | BLACK |_GND
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